Session—2021-22
Subject—Mathematics (71fora )
Class-9th
IInd Terminal Examination Model Test Paper

Time : 3 hrs. Maximum Marks ; 50
PART — A ( 9TT-31)

e 37 9T U9 @ All question carry one mark each.

Q. (1) T F RN R AT oo, BIATe |
(F)180° (@) 360° (7) 3 x90°
The sum of angles of a quadrilateralis ................
(a) 180° (b) 360° (¢)3 > 90°
Q.(2) YIHFFZIGAF ot T e B |
() SfaT (W) FEWR (7) 9 W
The centre of circle liesin ............. ofcircle.
{a) Exterior (b) Interior (¢) On the circle
Q. (3) g1 ! T AL S FAH ..o BT |
EIRER] (@) =" (*T) =9
The longest chord of cirlceis ................ of'circle.
{a) Radius (b) Diameter (c) Arc

Q. (4) afe et s T ot a, b 3 ¢ E a0 3= s v gl

wilirn vl
(a;)i_*;“ (@) a+bre (M) LS




If the sides of triangle are a, b and ¢ then its semiperimeter

B -
a+b+c a+b-
2t e (B wik e (c)H:H:
Q. (5) = 1 I &ABH oo BIE |
. 8a’
(F)6a* (@) 6a () :
Surface areaofcubeis ... -
(a) 6a* {b) 6a () bih
Q. (6) U TqEF &l IBTAA T Hel o Ufomd ... 2l
(&)1 (@) 2 () 3
A coinis tossed once, the no. of total cutcomes willbe ............... :
(a) 1 (b)2 te)a
Q.(7) THEHATIATH, .o, gl

(%) Qe ATE Sy& Bldl & |

(@) WH HI0T S TET A € |

() fareof weeg wafg wifsa 7T i € |
Inaparallelogram ... ... .. .

(a) Opposite sides are equal,

(b) Opposite anlges are not equal.

(¢) Diagonals will not bisect each other.
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Q. (8) TH 1 errwheT 3Tk STIHR 3R Ha ¥ #rd & TorTEe &l

............ gl e |

() s (@) <1 () fepm

The area of traingle is .............. the product of its base and the
corresponding altitude,

(a) FMalf (b) Twice (¢) Thrice

QO TwmgTTaraRReas, 30 ... wr o fefsa e

gl

(F)2 (@) 3 () 4

A circle devides the plane on whichit liesin ... parts,

(a) 2 (b)3 (c)4

Q. (10) gfe s &t 99 a, b 3R ¢ & 1 R % ¥ 570 Bys =
&S :V";‘(s—a)(s—b)(s—c) T s
(&) TSt &1 i

(&) st = syedufimmy

(1) TS = 3ER

The area of triangle with its sides as a, b and ¢ is calculated by

'Heron's Formula" stated as :V-"s(s ~a)(s—b)(s—c) where s
18 :

(a) Perimeter of triangle

{b) Semiperimeter of tnangle

(¢) Base of tnangle




Q. (11) 7Tel =T 3T fordest == r € |

(=) 37’ (@) 4mr?

Volume of sphere of radius ris ?

5 . *
(a) 3 (b) 4mr- (c) ‘,5‘?{1‘
Q. (12) IHHRHA ... 2|
i S g Y fi
() S (&) S () S fixi
The formula to final meanis ... ... .
> fixi D fi+xi >
(@) 55 (b) g n (©) 3™
Q. (13) &gt =T e &t Wil ... = £
15 ?}I
(&) -1, 1 (=) 1,2 (1) 0, 1
Probability of an event lies between ..........and .. ...
(a) ~1,1 (b) 1,2 (c) 0, 1
Q. (14) Tem T o1& o o1 &TFA ... =l
- 22
(&) [20cm? (g) —emr (1) 154cm®
!

The area ol a circle having radius 7emis ...,




22
(a) 120cm? () - cm® (¢) 134em?

Q. (15) e & fawmol wem gnfgwnfsa @ € sivawm . g
i
(F) R TEN (@) TN () B IR T
The diagonals of rectangle bisect each otherand are ... ...
(a) Not equal (b) Equal (¢) Sinall and big

Q. (16) S T FA TSTT &TEA ........... gz |
()27 (=) 3 (1) 4mr
The total surface area of a hemisphereis ...
(a) 2mr (b) 3mr (c) 4mr

Q. (17) 4fe 91 =1 YT &= % nur/, 8 diagi/ ... &
EVEE @ FE (meew
If the curved surface area of'a cone is wr/, where 7'is ...
@ n2 ) 2en? (c)r 4 b

Q. (18) AT G BRI ... BIRIE |

() A ®OT (@) e I () TR

Angle ina semicircleis ... ... .

(a) Acute angle (b) obtuse angle (c) Right angle
Q. (19) W =Y = I 0T 90°, 120, 60° T &l IR, ... gl
(&) 60° (@) 120° (1) 90°
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If three angles of a quadrilateral are 90°, 120° and 60° than the
fourthangle willbe ............

(a) 60° (b) 120° (o) o0
Q. (20) A T HA TB1T STFA ............. gl
() 2nrh (@) 2n (r+ h) (71) 2mrh

Total curved surface arca of cylinderis ... ...
(a) Zmrh (b) 27 (r + h) {c) 2nr-h
PART — B ( ¥TT-9 )
2 3fem =76 WYH (7 UYHT 9 @ IE 4 WT W)
All question carry 2 mark (Attempt any 4 questions out of 7
questions)
Q. (1) uF fasF &1 1000 =N Ivrer W FEafalbas amoemaT
it &« fad : 455 72 545 faa w1 migewar 3@ wifeg 2

A coin tossed thousand times with following frequencies ;

llead : 455, Tail : 545, Find the probability of 1 lead ?
Q. (2) 10.5 om a1 a1 M 1 gsSTe el did HIfSg |
IFind the surface area of'a sphere of radius 105 cm.
Q. (3) us <t gy farvor o wrifier farmg we 45° & v T AT HIfT |
Construct an angle of 45° at the initital point of a given ray.
Q. (4) Sem@Ul 3em o At €1 g7 a1 fogadl W ufasde & € aun
3T 2l & ST R gl dem § | vl Sia $i @ 9
EdlEy




Q. (7

Q. (8)

Two circles of radii 5cm and 3cm intersect at two points and the
distance between their centre is 4cm. Find the length of the common
chord.

ifery =1 fesst o1 71y dem % 2.5cm % 1.5em ® 1 adt 2 feferal
& U T =1 AT 941 211 7

A match box measures 4em = 2 Sem = 1 5cm what will be the
volume oftwo such boxes 7

IH T g W R S e Firore e 5 6om aur
??'a"t'ﬂ'é,r Tem ‘%’: |

Find the volume of the right circular cone with radius 6cm and

height 7em,

20 forenferal @ (10 ¥ ®) 9w f2 e foafafeaa st @
g T BT |

4,6,5,9.3,2.7,7,6,54,9 10,10,3,4.7,6,9,9

Find the mode of the following marks (out of 10) obtained by 20

stucents
4.6,.59.3,2,7.7/6,54,.9,10,10,3.4.7,6,9.9

3 TRl ATt W9 (7 W¥Hl ° | IS 4 U9 &)

All questions carry 3 marks each (Attempt any 4 question
out of 7 questions)

iU o U g9 wgds o foshul vt ene e 21
Show that the diagonals of a rhombus are parpendicular to each

other.




Q. (9) ABCD UH AW =G4S &, AE L DC 3 CF L AD 9fe
AB = 16em, AE = 8em 3R CF = 10em ® @l AD 1 g
ABCD is a parallelogram, AE L DC and CI' L AD.
IfAB - 16em, AE = 8cm. and CF = 10cm Find AD
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Q. (10) TH FHS F I3 :5:9 13 & U0 H & | 39 Tt & gl
10T F10 IS |
The angles of'a quadrilateral inthe ratio 3 : 5 92 13 Find all angles
of quadrilateral.
Q. (11) e ¥ T S5 16em ¥ 3R 3R 1 5791 12em ¥ | 39 O
1 T AT IR H T | (1t = 3,14)
The height of a cone 1s 16em and its base radius is 12¢m. Find

curved surface area of the cone (m=3.14)




Q. (12) TF 20 A weara & 10 T § Frefafiaa 1A fag
.3.3.4.3

B T T HIEE, 3T AT F1 15 2

The following number of goals were scored by a tcamin a series of

2,3,4,5,0,1

10 matches :
2.3.4.5.0,1.3.3/ 4 3
Find mean and median ?
Q. (13) T THTEHR F2R &1 5591 3.5cm § 3TF 318 R 51 o
T T 27 3T T Hiforg ?

A hemispherical bowl has a radius of 3 5cm what would be the

volume ot water it would contain ?
Q. (14) 39 F=a1 %1 e I FHIT S5 {estl 1 8T 12171 25
2 3f1e aftaTy 540 cm, # |
Find the area of a triangle whose sides are in the ratioof 12 : 17 - 25

and its perimeter is 540cm.
S 3¥5R OTA UYT (4 UyHT | W whig 2 U9F &)
All question carry 5 marks each (Attempt any 2 question out
of 4 marks)
Q. (15) Wk TS ABC &1 T &Ity forall /B = 60°, £C =45° 3R
AB +BC + CA=1lcm B
Construct a triangle ABC is which angle £/B — 60°, £C=45° and




AB+-BC+CA=1lcm,

Q. (16) 915 o 3MAN T Uak TaIs1 =1 fads S8 307 amen @ =y
U 25m 31T 14m ¥ | STH1 9% T8 T &9 210 T 100m? 1
T H YS! HUA = 71 HIfT
The slant height and base diameter of a conical tomb are 25m and
14m respectively. Find the cost of white washing its curved surface
area at the rate of Rs. 210 per 100m”
Q. (17) fag Fifsre fr us waia aqds & 0@ S Uk B © |
Prove that in a parallelogram opposite angles arc equal.
Q. (18) @11 TaaH! &1 T T1Y 30 X IBTEH W T a1 o 31 &1
HEA fA &

6 1 2 2 1 2 3 1 3 0
L 3 L 1 2 2 4 1 2 l
3 o0 & 2 1 2 3 2 2 @

T fed Ty Hiwel & o U SR s Rl SR
Three coins were tossed 30 times simultaneously. Each time the
number of heads occuring was noted down as :

g 1 2 2 112 3 1 3 0

I3 I 1 2 o 1 2 1

3 o9 1 I 2 3 2 Z 0

I-J

Prepare {requency distribution table for the above given data.
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